PRIMARY 5 MID-YEAR EXAMINATION 2012

Name : _ { ) Date: 1l May2012
Class : Primary 5 { ) Time: 8.00 a.m. - 8.50 a.m.
Parent’s Signature : . _ - Marks. _ {100

Paper 1 comprises 2 booklets, A and B.

MATHEMATICS
PAPER 1
(BOOKLET A) -

INSTRUCTIONS 70 CANDIDATE

Write your name, class and register number.
Do not tumn over this page until you are told to do so.

. Follow all instructions carefully.

1.

2

3

4. Answer all questions.

5. Shade your answers in the Optical Answer Sheet (OAS) provided.
6

_ You are not allowed to use a calculator.

Rl



Quesfions 1 to 10 carry 1 mark each. Questions 11 to 15 cany 2 marks eacli. _
For each question, four options: are given. One. of their is the comect answer. Make
your choice (1, 2, 3 or 4). Shade the aval (1, 2, 3 or 4) on the Opfical Ariswer Steet.

(20 miarks)

1. Which of the following has the same value as.989 2107?

(1)
@)

&)

)

(1
)
3
(4)

900-000 + 80 000 + 9'000 + 200 + 1
500 000 + 80080 + 9 000 +200 # 10.
960 000 + 80 060 + § 060 + 200 + 160
900 000 + 8 DQO +.9 000 + 200 + 1000

In 8 637 540, the digit is in the ten thousands place.

th & O

3. A box of chocolates costs $12.

How much do 25 boxés of chocolates cost?

(H
(2)
)
(4)

$15
$41

$300

3410



4. Whatis the value of 4%- % 2

1y

2

O oy

@) 3

@ 4

5. 7:f | = 28:60

What is the missing number in the box?

(1) 39
2 21
@) 15
@) 4

‘6. ABCD is a rectangle thatis not drawn to scale. Find the value of £ x .

A B
15°
X
3) c
(1) 30°
(2) 45°
@) 75°
4) 85°



7. Wikt dre the cominion factors ofi54 and 367 .

0 1, Zand 3
@) 1,2, 376 and' ¥
(4) 1.2,3,6,9 and 18

B, A2101= 0 xdd

‘What isithe thissingfiuinber in the box?

(ay 1
@ 10
By 11
@} 22

9. Ajlﬁ"gjt_t_]é?‘e:_ar;i=hdd‘100’0 mi of olive:cil.- Banny-wants 16 buy 17 such beltles of

Blive il Eveiy200 mtof-olive oil costs:$2:: Haw.mich:does he have topay

@ $10
@ $34
® 385
@ stio



e sfes Hinnictuss 204
.. s ™ - 2 > 14 - >
5 Ay

LR

1)
2)

3)

Wore

St GRS worel 164 g fals. -SrtidRiore blve

- patty-Ratsardl thé¥E8twore gresn party hats. Whist fraction of the'partisipénts

aresi party fists?

R

@l
(2) 5

3

pay 3
{4) =

5.

Edward T the'same number 6f $10 notes and $5 notes. The-total“amount of

rierieyiy $1:260" How mdny $5notes are there?

42
126
25"

2. AliandBEld had $240; Aliany Ghuid iHEd°$460. Chiun'Li had 5 times as'

)
@

@)

4)

uGn asitsala: Hew mUChIRITIEYS?

$185
$196

75



13. "The figure below is not drawn to scale. It 5 made up of four parts,
A, B, C and D. Parts C and D are squares and each is a quarter of the ﬁguré-

Which of thie following two parts will add up to form g of the figure?

(1) AandC
(2) BandC
{3) BandD
d) CandD

14. In the figure below, ABCD is a rectangle. E is the midpoint of the line DC.
Find the area of the shaded part.

(1) 24
{2) 48
3y 72
{4) 96



ifihie continued: building and-used 169:cubes as‘tie-base, how manylevels

“weie theré?

1)

@

Q
@

10 levels
111evels
12 levels
13 levels

B A

- End of Booklet-A -
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PRIMARY 5 MID-YEKR EXAMINATION 2012

Name ; | ) Date: 11 May 2012
Class : Primary 5 { ) Time: 8.00-a.m. - 8.50 a.m.

Parent’s Signature : -

Paper 1 comprises 2 booklets, A and B.

MATHEMATICS

E
PAPER 1 20
(BOOKLET B)

INSTRUCTIONS TO CANDIDATE

1. Write your name, class and register number.

Do not turn over this page until you are told to do so.
Foliow all instructions carefully.

Answer all qugstions.

Write your answers in this booklet.

You are not aliowed to use a calculator.

Y L




16.

17.

18.

What is the greatest 5-digit odd number that'can be formed using the digits

below? Use each digit once only.

5 5 8 2

Ans:

Rearrange the following fractions in ascending order.

3,017,518
4 8 & 12 9
Ans:

405 pupils will be going for a feaming jourtiey to the zoo.
What is the minimum number of buses needed to ferry all the pupils to the

zoo if each bus can carry 40 students?

Ans:

19



19 Whatis fHevaltie ot 52:4:(82= 0¥ 3% 22

Ans:

20. . Findthe productof % and —Z— ‘Express your'answer in its sifiplest fomm.

Ans;

21, Awooden rod-is —::4 m long. It is cut into 3 equal pieces. WHal is the'fength of -

each piece?

Ans: m

22.  Thefigure beleW is nétdralin to scalé. Find the shaded area.

Jicm




23. - Gemihas $30:Heriry has $12 less than Gerri: Find the, tai__tig_éof; Henny’s.money

to Gen’s m'o-nj-éy: (Express yotic answet in its Snplest term)

Ans:

24.  isabel started playing netball at the time shown below.

When she stopped playing, the clock showed 3.15pm. How many degrees

had the minuteharid moved?

25.  The diagram below shews % of a symmetrical figure: AB is a line of

symmetry. Draw the missing haif of the symmetrical figure.
JA

R
i

! -

s
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A1
r .
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. ('Eluesnons 2646 :30; cary 2 'matks’ ~eaths Show your workmg cleariy [ig the space;_
. provided «for-each: _._QGest:on ands W ‘;.your ‘answers:-in -the " spaces " provided:
For queshons ‘which | requtre units, give. your answers it the Ghits stated (1 Ofriarks)y

26, MM x20x17= x2 %34

The missing nurber in the-blank-is :

Ans:

2t A salésman:sold. a“;iortalbl‘e projector and 3 laptops. He sold the projector at
twice: the seﬂmg pnce of‘each laptop. The 3 laptops were sold for $4-800.
How-much was the pro;ec:tor?

Ans: $

28.  There are 3 types of bricks A, B and C. How many bricks of B must be placed

to balance the scale in-Figure 37

1B. -

B B~ C
B ) ?B_. .
‘B B

— C
B B
B B C

Figure 1 Figure 2 Figure 3
Ans:




What'fraction-of dhie afetiiol The trigngle is covered by the shaded:hexagon?
{Giveyouratiswerin tigsinplestfoah)

300 Usé ‘thes-given ~shapé. t6: form a -tessellation in the -spdce provided.

‘Draw3miore chthe given shape.

END OF PAPER 1
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PRIMARY 5 MID-YEAR EXAMINATION 2012

Name:_ __ ( } Date: 11 May 2012
Class : Primary 5 ( ) Time: 10.00 a.m. — 11.40 a.m,

Parent's Signature

MATHEMATICS )

PAPER 2
60

INSTRUCTIONS TO CANDIDATE

Write your name, class and register no.

Do not fumn over this page undil you are told to do so.
Follow alf instructions carefully.
Answer all questions.

Show your working clearly as marks are awarded for comect working.

S T o

You are allowed to use a calculator.




Questions 1 to 5 carry 2 marks edch. Show your working clearly in the space provided
for each question and write your answers in the spaces provided. For questions which
require unifs, give your answers in the units stated. (10 marks)

1. Zheng Loo bought a box of cakes. The number of chocolate cakes in the box Is. .
% of the number of-vanilla cakes. Find the ratio of the number of va‘nil_la'c:'akés to

the fotal number of cakes in the box. - - T o -

Ans:

2. Xavier is facing the airport. If Xavier tums anti-clockwise through 225°, where will
he be facing?

l School

North

Restaurant

Field ™

I Post Office

Ans:




Ans;

4. Yin Yin has thrice as’ rr'iany?maj_‘fﬁl_es as Witney. How many marbles must ¥in Yin

give Witney so that each of thém will have 398 marbles?

Ans:







'arks“a\‘?éﬂab{e i shovm i bra‘cﬁ“afs {’ ] arigrend ot gactiquestisn or
(50 marks)

58 Had $2:550. SHe gave liaiEoTd s er mattier and: divided the rest sobally
kg 4.srsters ‘How tuenwaareacn; SIgler gets Kouna- oIl Ute drswer 10’ the
neares’i daliar:

Ans: 131

7. A tailor bought 68 packets of buttons. Each packet has 55 buttons.
Hewised. 15 buttons and’ repacked the rest of the buttons equally into containers.
If he];_’r.i:e}é_ded 25 containers ‘Aa;_ﬂer repacking, how many buttens were there in each

. confainery

Ans: | i3]




di Hevnother is- 33 years old. b how many Years! tite will-her

Fioterbe 3fmesadiold as Kim?.

Ans: : [3]

8: My mother used a‘total of 3%3 of cooking oil in January dnd February. She used
%E more codking oilin Febiuafythan in January. How much cocking oil did she

use in February?

Ans: 13}




12em

Wﬁféq;t:;sme At&aistitie slisded pait-of the piece.of-paper?

Ans:

11. Minah arid her friends booked 3 tennis courts at a sports complex.

Bookirig: Fee

‘First-2.hotrs

$8

Efve;?%édéiiﬁonai hour or part thereof

$3.50

They Bf{jbk‘ed thetennis. courts from 9.30 a.m. to 3.00 p.m. How much did they pay

altogether?

ARs:

13




- SRBEAS SYHIL AT Yes 20 of Heb swisisdoSviilastis Wil i &
Aty sweets S SYBIPHow many 'swests do ey ave aRogethisi e

Ans: 41




135 THEAHBIS ‘BEIGW shows the numbet of the différént-brands of sﬁaéf;;_- fhanufactured
mai‘erejgncouriﬁy

| Biand otshoos | Nuinfer

Arididas 320

. Nikey 518

New Balapcing | 472

T

Pumish | = 104

Rebooks 256

a) What fractioni vf fhe shoes are Pumiah shoes?

b) I'f% of all:the shoes were shipped out in the moming and é— of the remainder were

shipped out in the aftemoon, what was the number of shoes left?

Ans: (a) [2]

(b) (2]




14. Tickets for a football match were sold at $25 each fora child and $45 eachy for an
adult. In total, $34 625 was collected from the sale of tickets. The number of
ddults'was 435 more than the number of children. How many adults attended the
football match? T

Ans: =. 4]

93



15. There were 4 imes as many red pens as bliie pens inabox. 415 red peris and
45 blite pens were removed fromi the:box. AS 3 restlt, the number of blue pens
became 3 tiries as many as fed pens. Hew many blge pens were there it the

beginning?

Ans: _15]

-10-



16, Andvdiew TaRaIes giatfolew g patemn as's HOwi-Daldir. ‘smdyathefpaﬁ@‘m Hg

L AT GEshsrshatfollow.

3" Fhargle

15‘_%‘="fﬁ§hﬁle-- 2% Triangle

a) Whakisthadieaoftie 8" Thangle?
b) Whatis thsistatarea of the first 5 tiangles?

c) Wﬁid‘ntnaﬁgi;a)ml!havean area of 10 000-cm*?

a) 1]

b) 2]

<) i 4

- 17 -

95



.17. Mr Lee delivers vases for his.company. For every vase that is delivered
steeessfully, hé receives $18. For every vase that is broken, he needs 1o
pay. $6 to his company. If he received $2 616 for 280 vases,

&) how many vases were delivered successfully?

b} how miany vases were broken?

Ans: a) {4].

Ans: b) [1]

=12 -



18): - Ther-@ueshis: Rrnceiand  Princgss:had:, 270 diamonds.- Afler:. reéeiving

B ARTORAS T Her Iy, e Qusen Jecided toiaive™ . of Hér diafithids t

tiie’ Priricé. The Prince then gave—i—of Hig diamionds fo the Princsss. in the

end. tfe threé of then had the samé numberof dianionds. How many diamonds

did-each of them have at first?

IAns: Prince <>

(31

Princess 2>

Queen <

1]

1]

END OF PAPER 2

- 13 -
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Paper 2

1iChaovolate * Vanilla

Total
2 : 5 '

4

S+2=7
Ansa5:7

2)Restaurant

2¥50 - 16 = 34
Vo x 34 % 16 = 272

4)398<>-2= 199

5/ 9—-2=7%
F=2=5
1320 +585 = 264
264 %9 = 2376

6)2550+2 = 1275
127554 = 318,75
B1B.VE = 319,

Each sister gbt 319

7168 x 55 = 3740
3?40 ~15 = 725
3725435 = 149
Thera ware 149 buttonz in mr.h container,

BI33 -7 ?.-.e:,zﬁ
A3x3Im 39 -
1B3~F =6

. 39-33=6

In 6 years’ tme,

D)3s76 = 320724
3 = 18724
32024~ LB 24 = Jai24
32f34 + 2 = Lasyy
113528 + 1B/ 24 = 27t
She used 27724-of oll-In Felirvary,

Page 2
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10)2 (2 x 9 x 17) = 153
(32 x 21) —~ 153 = 519cm2

11)9.30->3pm = 5.5h
$8 + 4 ($3.50) = $22

$22x 3 = $66
12)Trish : Syhil : Total Trish : Syhil : Total
4 : 1 : 5 3 ¢ 1
16 : 4 : 20 xa 15: 5
5—-4=1

lunit>20-10=10
20 units—>20x 10 = 200 - _
They have 200 sweets altogether. -

13)a)320+518+472+104+256 = 1670
10471670 = 52/835
52/835 of the shoes are Pumah shoes.

b)1670+5 =334
334 x 2 = 668 (Morning)
1670 — 668 = 1002
10026 = 167
167 x5 =835
1002 — 835 = 167
There were 167 shoes left,

14)435 x 45 = 19575
34625 — 19575 = 15050
45 + 25 =70
15050+-70 = 215
215 adults attended the football match.

15)46 x 4 = 184
415 —184 = 231

23111 =21
21 x3 =63
63 + 46 = 109

There were 109 blue pens in the beginning.

Page 3
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16)a)8x 2 =16
12 x 16 x 8 = 64cm

It is 64cmz2
b4 x2=8
2x8%x3 =16
5x2=10

1 x5x10 =25 .
1+44+9+16+25 = 55
It is 55cmz2

€)10000 =100 x 100
The 100" triangle will have an area of 10000cm:2

17)a)280 x 18 = 5040
5040 — 2616 = 2424
18+ 6 =24
2424--24 = 101
280 -101 =179
179 vases were delivered successfully.

b)101
101 vases were broken.

18)Queen

Prince 270 + 90 = 360

Princess

270 + 90 = 360

360+-3 =120 -
3609 =40
40 x 6 = 240

240 — 90 = 150 (Queen)
40 x 2 = 80 (Prince)
49 x 1 = 40 YPrincess)

Page 4
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